Aerogel Calibration 2023

| found the difference between the old method
and petr’s method.

* Petr’s fit Is on the npe spectra, while the old
method fits to the adcPulseAmplitude.

* This means that to get back the calibration
parameter we must multiply by the current
parameter value.

* | have done that with the following
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Cut Study

* Last week there was a question of whether on not
nlacing cuts would help the fits.

* | have 2 sets of cuts:
- -50 < xAtAero < 50 && -50 < yAtAero < 50
- -50 < xAtAero < 50 && -50 < yAtAero < 50 && hgc.npeSum > 4

* | am showing run 13086 (n = 1.03)



S0

40

30

20

10

No Cuts

Positive PMT 0 spectrum

Positive PMT 0

Entries 50002
Mean 1.546
Std Dev 0.8675

Hmwwﬂw

0.5 1 1.5 2 2.5 3 3.5 =




45

40

35

30

25

20

15

10

With Tray cuts

Positive PMT 0 spectrum

Positive PMT_0

i

I|-l|| | | | I 1 1 | I 1 1 | | I 1 1 | | |1 |1 | | I 1 1 | |

Entries 48443
Mean 1.545
Std Dev 0.8725

0.5 1 1.5 2 2.5 3

My



With Tray and HGC Cut

Positive PMT 0 spectrum




Conclusion

e Cuts seem to make little difference to the
distribution

* | think | can conclude that this study and use
the value from the red lines on the above plots.

* | have also included some example fits for
context



ADC+ 1

1135176
1255

ADC+ 2

1135176
1653

spgs |

ADC+ 3

B899

1135176
16,60

ADC-1

1135176
1535
L T50

ADC- 2

1135176
1672
Asga )

ADC- 3

Py

g
T

g
[




Negative PMT_0-trimmed

7 ndf 4211 /400 = 1.05
05966 £ 1.0751 (al max)

0.0014 0.000 (fixed)

0.2007 £ 1.0113 {at min)

0.6874 + 0.0221
0.4 +0.0 (fixed)
0.5692 + 0.0270
0.1+ 0.6 {at min

1 2 3 4 5 & N "-" -3 Ll

Negative_PMT_3-trimmed

}C') / ndf 287.1/291=0.99
0.65 £ 004 {at max)

0.001+ 0.000 (fixed)
01747 £ 0.0175
0.2063 + 0.0268

0.4 £0.0 {fixed)
0.8079 + 0.0368
2166 + 0.393

Negative_PMT_6-trimmed

4448 /250 = 1.78
0.4147 + 0.0351
0.001+ 0.000 (flixed)
0.4013 £ 0.0430
0.2217 £ 0.0207

0.4 £ 0.0 {fixed)
0.09322 + 0.00867
..... 1.289 + 0.199

J ndf
&,

MNegative PMT_1-trimmed

Tl 34217345 = 090
0.09885 + 0.15203

0.001 0.000 (fixed)

0.8438 + 0.1677

0.4241 + 0.0200

0.4 +0.0 {fixed)

0.6500 £ 0.0318

0.4506 + 0.1149

Negative_PMT_4-trimmed

/ ndf 283.9/ 306 = 0.93
04173 £ 08776 {al max)

0.001+£ 0.000 (fixed)

0467 + 0.527 (at min)

0.4089 + 0.0648

0.4 0.0 {fixed)

0.6945 + 0.0452

0.6707 + 0.9358 (at min}

8

a0

Negative PMT_2-trimmed

7 ndf

306.2/327 = 0.04
0.3602 £ 0.3366 (al max)
0.0012 0.000 (fixed)
0.6013 + 0.3854

0.432 + 0.029

0.4 +0.0 {fixed)

0.6348 £ 0.0318

0.4322 + 0.3462 (at min)

Negative_PMT_5-trimmed

/ ndf

273.8/328 = 0.83
0.65 £ 011 {at max)
0.001+ 0.000 (fixed)

0.3959 = 0.0401
0.4523 + 0.0387
0.4 £0.0 {fixed)
0.6384 £ 0.0321

0.886 + 0.284




A0

Positive PMT _0-trimmed

Tl 333.2/361- 087
~0.02506 + 0.04531

0.0012 0.000 (fixed)

0.94 + (.05

0.323 + 0.009

0.4 +0.0 {fixed)

0.6482 £ 0.0186

05456 + 0.0360

Positive PMT_3-trimmed

£ ndt 2499271 =092
—0.1341 £ 0.0713

0.001+ 0.000 (fixed)

0.9543 £ 0.0725
0.2635 + 0.0075
0.4 £0.0 {fixed)
1114 £ 0.047
0.2413 + 0.0260

Positive PMT_&-trimmed

J ndf 2542 /299 = 0.85
057 £ 0.20 {at max)
0.001+ 0.000 (fixed)

0.265 £ 0.236 (at min)

0.3737 £ 0.0624
0.4 £ 0.0 {fixed)
0.9177 + 0.0363

=

|FR = 8008 0%

0.9473 + 0.9338 (al min)

a0

Positive PMT _1-trimmed

% 7 ndf 368.2 /418 = 0.88

-0.1182 £ 0.0772

0.0012 0.000 (fixed)

1.001+ 0.086
0.4481+ 0.0170
0.4 +0.0 {fixed)
0.5662 + 0.0180
0.631+ 0.062

Positive PMT_4-trimmed

% / ndf
a

368324 = 1.14
0.3997 £ 01636

0.001% 0.000 (fixed)

0.4723 £ 0.2044
0.3984 + 0.0372
0.4 £ 0.0 {fixed)
0.8202 + 0.0368

FRE Q0

0.9521 + 0.4888

Positive PMT_2-trimmed

Tl 342.8/369 - 0.88
~0.01744 + 0.10357
0.0012 0.000 (fixed)
0.9551+ 0.1187
0.4347 + 0.0194
0.4 +0.0 {fixed)
0.6704 £ 0.0240

_ 0.60714 0.0853

Positive PMT_5-trimmed

T ndf 276/319 = 0.87
(.4585 + 0.2282 (al max)
0.001% 0.000 (fixed)
0.3827 + 0.2818
0.3566 + 0.0503
0.4 £0.0 {fixed)
0.7884 + 0.0329
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